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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.           

Explain/Define
1.      Managerial Economics.
2.     Indifference curve.
3.     Consumer equilibrium.

4.     Economies of scale.
5.     Derived demand.
6.     Oligopoly.
7.     Capital budgeting.
8.     Cost of retained earnings.

9.     Kinked demand curve.
10.   National income.
11.   Consumption function.
12.   Break even analysis..
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13.    Give a brief account on any two properties of indifference curve.

14.    Explain the role of managerial economist.
15.    Why is the short-run average cost curve U shaped?

16.    Explain the different methods of pricing.

17.    Explain the relationship between depreciation and profit of the firm.

18.    Analyse the cost of debt capital with illustration.

19.    Explain the computation of national income.

                 

    SECTION C — (3 × 10 = 30 marks)

20.    Compulsory question-(case study)   :                                              (1×10=10)

Continental Chair Company (CCC) has a capacity to produce one lakh chairs per year. It has been producing and selling 60,000 chairs per annum at a selling price of  `140 per chair. The cost structure of the company is estimated as below:

     Average fixed cost                     --- `20

    Average cost of labour               --- `40

    Average cost of material            --- `50

                                                      ----------
                           Average cost:           110

                                                      ----------

The company was satisfied with the profit it was earning. But the situation suddenly turned adverse. The suppliers of raw materials raised their prices by 25% Besides, labour succeeded in getting a wage- hike of 20 percent. These conditions posed a serious problem of restructuring the price and output. 

The company called a meeting of its senior officers to discuss the matter and to find out a suitable solution. The chairman informed the members that the minimum acceptable level of profit to the company is `8, 00,000. 

The members suggested the following alternatives to face the new challenge. One is to raise the price of the chair to `170.At this price, the company would be able to sell 42,000 chairs and make a profit a little higher than the minimum acceptable to it. But an unwanted outcome of this action would be losing a considerable part of its market share to its competitors, which is extremely difficult to regain.

 Another solution suggested was to raise the price of chair only to `150.At this price the company would be able to sell 80,000 chairs and make a minimum acceptable profit. Alternatively, if the current level of price is maintained in the face of competitors raising their prices, the company would be able to sell one lakh chairs.

Questions:

       a) What course of action would you suggest to the company?                   (5 marks)

       b) Explain the reasons in support of your advice. (5 marks)  

 Answer any 2 questions:                                                                            (2×10=20)

21. 
Explain the a) law of  equi-  marginal utility.
                         b) Law of diminishing marginal utility.

22.   What is the price elasticity of demand? Explain the types of price elasticity.

23.   What is perfect competition? Explain how price is determined under perfect  

        competition.

24.   What is the need for capital budgeting? Explain the steps involved in the investment 
        decision making process.
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